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(a) A EH K A*(B-C)/D+H(-E)*F 4k s, — 4R = 7u#t(binary tree) (5%)
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7. % — # & B (undirected graph)4e F Af 7 -

(@) K Afigs 1 At o # A DFS(Depth First Search) # 35 B ¥ 495 — 18 & 25 698
(6%)

(b) ##|M Prim’ s %¥ % » K # Minimum Cost Spanning Tree » £ A E B XL (%)

() #FPl4ofTrE &M Kruskal' s EHEEBE R Prim’ s F H &R F KX Minimum Cost
Spanning Tree? (7%)

8. HACHET#HEHFBRVAK intrsum(intn) 3 HIx2+2x3+3x4+--+(n-D)xnzfo (10%)

#include <stdio.h>
int rsum(int);
int main(void)
{
int n;
printf("Input the number n: ");
scanf("%d",&n);
printf("1*2+2*3+3*4+.. . +(n-1)*n=%d\n", rsum(n));
return 0;

}

9.  Consider a router that interconnects three subnets: Subnet 1, Subnet 2, and Subnet 3. Suppose
all of the interfaces in each of these subnets are required to have the prefix 223.1.17/24. Also
suppose that Subnet 1 is required to support up to 125 interfaces, and Subnet 2 and 3 are each
required to support up to 60 interfaces. Provide the network addresses of the three subnets(of
the form a.b.c.d/x) that satisfy these constraints. (10%)




